~
il S
@ Boc=T1-5L =T

X ® loonG AT O)_%>C
2¢ . Ty
Cosb= = S.lv;@~ e
; ST/ Y 24 24
41 S®
2y o | B C 2= 24 (=6 Y= 2-duuB
&= 224 Co&—% Y =24 SMTZF
_ & =
=R SIS
TS AUh oF oRc= l?:wjijzxjg—@x :'2%67

o T 4 e T
& _ | _2
S
INCEHRING: = ‘\Zﬁ_y—>© —2  a%4>o
— “5(@>7£ = @-2)GEx+D) o
o)
= <4 0=
' = T4 L=
a +af = 2o a Q) = 2o 5
: s =) Dl q\\g
a o= 200 3 a( 1413) =200 2 Dot GQuis
—s AU _ 2oo
NG zof(hff)— ETES
Lt [+vF |1



C2, YGR, PAPEL v Tl

= G4 = SC4S
— G -5 4+l =

= Br-1)Cx-1)=o i |
L 2
| AN A~ e =2
::—_‘) = /2 ‘ L E%O ;\; l+4-2: 3/7_ lé/o
\/ Ry Ca '\—“:x} A
R ia ik 240 2o \
;3 = —=\RD
e S5 2= 52 = 2o
S T
| Do //;
= 2 /’//
o ;;o e % L |5 7
2 //

4’- o éﬂ»?ig\vul = (S

Wiz -
- 8(%\)8\/& — (oS}

e S\vfiz
i o2

| — BIPL = W@

>

= B |
— e
ERERAN

ok (1) = o-4eq.

I,

= Lol

F= 0U6°
Iz “—Sélt
_ e

i



C NGB ARR W DT
——4) Q@Q o214
YR= Lot z6

Yz)= 2-18-2 ¢ =O - 3 u A A
| " ;%@\}’fj;’/
Y Q@ = @-3)(o%A 42) gl
w BY LONG- DIy
+22 O INSRECT o)

B v =2
—3k 42 =—|
S= 34\
A=)

- N0 = GG o)

C} e 3 - LG b 2o
:9 %: L—Zlg -1\‘/)\,2_ “]2)"72
& Ok ol 260
X 2oy — T2 =0
,&Sﬂ 211_~ s
(=224 g 2y =70

\>2~Qac_ = \Z— bl = =8 =1 <o
No WeRE SSTONS Xt 2=73

® 9= R d Dt ko
ys-3

| & oNe/ STRTTONAY Bory & AT (3 %)///

% %,

= Ly g3 = 28> ©

RJJ = L (3) ua Mn\] //

///



ru‘q_’_:_“

Y68, PafeR b/
G- [%_ %&f (e <g§(ﬁ%fl,_

(By INSPeCTia) )
f SToty o 256 W%
ot 1B 30 sol - T
+ 92gadoy. !
< 9248 o
1 S Vs
7 ng: A%lokt,‘
SNPEBENABEEN
k

3
@t:z)i):\%oo — qoeo = A x (0

) DIo I

= 1—3
QWINC. 19000 = AX 10
Qo000 = Ax 2

A = 9S00
L=



© BY SymETYY THE
ee oF & uk
ON 2= (2

@ T € 3G

RADWS of Cg
| =

l4c| =6+r

gl g4
BY PYacrs = Cf&— (6= @W}

3@%/4* /%ﬁzw

36 = | Qi
P30

© y=0 = (x-D-£)=0
N <‘/z B( o)

(&)
® D( &) By S
@ Ttuow 4L ALE Congpun) AND (ukc T
j 2 I [—2—:&3— 5&2*@%]
i <—L ‘?‘Jr\% (o)

?4»

re=
<



CO\Q SINGU- TQAPE%IUM)

EL
23 7\
o o Agpn = 261 27 V
Z\{;{//
/
0.
o) | (1 L4 k8 22 | g3
=23 A+ 84 . -;% |

T
A0 \M{:ﬁm - CasT —%%z@w]

Ty ~ o | 4
a
[ i +Z[““Q+{%O(+ZC\+ ﬂ
Tolg ~ L [z 137 ‘
Sa h38,

2320 =
\ a = (o8~
&;) 5F




